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[B] | kWh/(m2-8)] | [kWh/(m2: B)] (kwh/A]
18 31 3.67 1138 1.01 0.77 876.3
AEMERY(ERROEE) 28 28 3.73 104.4 1.00 0.76 793.4
18 | 28 |38 | 4A | 58 | 6A | 7A | 8@ | 98 | 10A | 11A | 12R 3A 31 414 1283 0.99 0.75 962.3
#. M| 1.05 | 104 | 1.03 | 100 | 098 | 096 | 094 | 094 | 096 | 098 | 1.01 | 1.03 4R 30 4.12 123.6 0.97 0.74 914.6
il & 102 | 102 | 101 | 099 | 097 | 095 | 094 | 093 | 094 | 097 | 099 | 1.01 58 31 4.39 136.1 0.95 0.72 979.9
B | 1.01 | 100 | 099 | 097 | 095 | 094 | 092 | 092 | 093 | 095 | 098 | 099 6H 30 3.77 1131 0.94 0.71 803.0
#H E| 102 | 102 | 101 | 098 | 096 | 094 | 093 | 092 | 094 | 096 | 099 | 1.01 78 31 3.74 115.9 0.92 0.70 811.3
ZHE| 1.01 | 101 | 1.00 | 097 | 095 | 094 | 092 | 092 | 093 | 096 | 098 | 1.00 8A 31 422 130.8 0.92 0.70 915.6
X BR| 1.01 | 1.00 | 099 | 097 | 095 | 093 | 092 | 091 | 093 | 095 | 097 | 1.00 98 30 3.39 101.7 0.93 0.71 722.1
5 & 101 | 101 | 099 | 097 | 095 | 094 | 092 | 092 | 093 | 096 | 098 | 1.00 108 31 3.32 102.9 0.95 0.72 740.9
B #| 101 | 101 | 099 | 097 | 095 | 094 | 092 | 092 | 093 | 096 | 098 | 1.00 118 30 3.10 93.0 0.98 0.74 688.2
= [| 1.00 | 100 | 099 | 097 | 095 | 094 | 092 | 091 | 093 | 095 | 097 | 099 128 31 3.29 102.0 0.99 0.75 765.0
B F|| 096 | 096 | 095 | 094 | 093 | 092 | 091 | 091 | 092 | 093 | 094 | 0.95 FRHEEREBEENE [kWh/4F] 9,972.6




